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7-4
Zeros in the Quotient RETEAGH
Divide 3)629 . Follow the steps below.
Step 1 Step 2 Step 3
Divide the hundreds. Divide the tens. Divide the ones.
Think: 3 X 2 = 600 Bring down the tens. Bring down the ones.
The first digit is in There are not enough Divide the ones.
the hundreds place. tens to divide. Trade 2
tens for 20 ones.

2 , 20 209 R2
3)629 Multiply: 3X2=6 3)629 There are not enough 3)629
—6  Subtract: 6—-6=0 —6 tenstodivide. Write ~ —6

0 Compare: 0<6 02 30in the quotient. 029

2 Subtract; 29 — 27 =2
Check your answer: 209 X 3 + 2 = 629

Complete.
1. 2. 3.
30 R 1 R

39 2 6 6)6 4 2 7)1 4 3

-9 6 =14
Divide.
4. 4)$816 5. 4)438 6. 3)316 7. 7)765
8. 2)615 9. 2)361 _10. 3)628 11. 3)$210
12. 912 +9=__ 13. 452 +5=__ 14. 662 - 3 =
15. 965 +6=_____ 6. 905 +-3=__ 17. 734 -7 =

Use with Grade 4, Chapter 7, Lesson 4, pages 284-285. (212)



